
SUZUKI V-STROM 800 DE      2023--> SPEED

EDGE

CODICE  / CODE SILE NZ IAT OR E  / MUFFLE R  TU BO / PIPE

S.061.LRX INOX / ST. STEEL

S.061.LRB STEEL BLACK
INOX / ST. STEEL

AP PLICA Z IONI /  A PP LICAT IONS

11

6 x2

3
72

5 x2

10

8

1

12

9

4

# DESCRIPTION PART NUMBER QTY

1 Silenziatore / Muffler    db killer 50.DK.091.0 SPEED EDGE 350 1

2 Vite M8x45 / Screw M8x45 50.73.602.1 1

3 Rondella in alluminio nera / Black aluminium washer 50.73.221.1 1

4 Staffa / Bracket 50.SS.1424.0 1

5 Rondella di sicurezza / Safety washer 50.73.604.1 2

6 Vite M8 x 16 / Screw M8 x 16 50.73.098.1 2

7 Dado M8 flangiato / Flanged nut M8 50.73.393.1 1

8 Tubo di raccordo / Link pipe 9773S061SRX 1

9 Fascetta Ø 48/51 mm / Pipe clamp Ø 48/51 mm 50.FA.007.1 1

10 Vite M6x20 / Screw M6x20 50.73.827.1 1

11 Dado rapido M6 / Cage nut M6 50.66.009.1 1

12 Cover in carbonio / Carbon cover 50.CR.067.0 1

Vite originale
Original screw

Telaio
Frame


